V'V

>

| > restart

Rac = % s evalf (Rac)
0.1428571429 1)

_> Rac

- 2

_> Raiz == sqrt(2) : evalf (Raiz, 100)

1.4142135623730950488016887242096980785696718753769480731766797379907324784621\  (3)

07038850387534327641573

_> Pitagoras = Pi; evalf (Pitagoras, 10000) : evalf (p1); evalf (Pl); evalf (Pi)

Pitagoras =7

T
IT
3.141592654 @)
cos( % ); evalf (%)
Lz
2
0.7071067810 5)
Ecuacion == x--2 +16-x+24=0;
Ecuacion :=x* + 16 x +24 =0 (6)

Raices == solve( Ecuacion); evalf (%)
Raices: =-8+2+ 10, -8 —2+10
-1.675444680, -14.32455532 7
Raices,;
-8+2410 )
Raices,,
-8§—2+410 )
EcuacionOriginal := expand( (x — Raicesl) . (x — Raicesz) ) =0
EcuacionOriginal = ¥ +16x+24=0 10)
rhs(Ecuacion)
0 an

plot(lhs (Ecuacion), x=-20..10)
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=> EcuacionDiferencial == diff (y(t), 82) + 5-diff (y(¢),t) +6-y(t) =8-cos(4-t)

2
EcuacionDiferencial = d—2 y(t) +5 (% y(t) ) +6y(t) =8 cos(4¢t) 12)
dr
_> SolucionGeneral := dsolve( EcuacionDiferencial)
SolucionGeneral := y(t) =e_2t_C2 + e_3t_C] — 24—5 cos(41t) + % sin(4 t) (13)
_> Condicioneslniciales := y(0) =3, D(y) (0) =-10;
i Condicioneslniciales :=y(0) =3,D(y) (0) =-10 (14)
> SolucionParticular = dsolve( { EcuacionDiferencial, Condicioneslniciales} )
SolucionParticular == y(t) = —% e 2l 4 % e — % cos(41t) + % sin(4 1) (15)

_> DerivadaSolucion = diff (SolucionParticular, t)

. o_d 18 372 i, 16 32
DerivadaSolucion : & y(t) 5 e 25 e+ o5 sin(4¢) + 25 cos(4 t) (16)

Con esta instruccion podemos graficar amablemente la solucion

 particular
> plot([rhs(SolucionParticular), rhs(DerivadaSolucion) ], t=0..10)




_10_

;> restart

> funcion == x--3-exp(-4-x)-sin(5-x);

i funcion:=x" ¢ **sin(5 x)
_> Derivada = Diff ( funcion, x) = diff ( funcion, x)

3 sin(5x)) =37 e *sin(5x) —4x’ e

Derivada = % (x e 4

Ysin(5 x)

i +5x° ¢ cos(5 x)
> Integrallndefinida = Int( funcion, x) = int( funcion, x) + C,

72

Integrallndefinida := Jx3 e_4xsin(5 x) dx= ( - 45—1 P 1162801 P 62331 X

- %) e M cos(5x) + (— f—l 4 % ¥+ 61;91261 X

+ %) e *¥sin(5x) + C,
=> IntegralDefinida :52 Int( funcion, x =2 ..5) =int( funcion,x =2 ..5); evalf (%)
IntegralDefinida = l P e_4xsin(5 x) dx= % e ® cos(10) + % e ® sin(10)

a7

(18)

19)
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48255755

2825761

-20

33026431 -20
2825761
-0.0004828487978 = -0.0004828487976

cos(25) — sin(25)

(20)



